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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) odigndi FEuAH U U U W THE AHEEa: o

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) uft U g wA AT

All the questions are compulsory to attempt.

3) UEH A T IW &l TE IW-Yeht | & for|

Write the answer to each question in the given answer-book only.
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SECTION - A
= fou U AgeEATEe Wi o W@ I IW-YfEreRt H fetReg - [16xY2=8]
Write the correct answer to the given multiple choice questions in the answerbook.
1) wwTel JR i e g - [Y4]
) wifees snemg q) I TR e
H) UREN T ) IWH At
Barriersto effective communicationis-
A) Physica Barriers B) LinguisticBarriers
C) Interpersona Barriers D) All of theabove
2) HURFAAE - KZ
) UuE F)  Tew
q) e 3) SW alt
Elements of communication are--
A) Sender B) Message
C) Chand D) All of theabove
3) WRR T E O e AT @ - [4]
) TE ) gl
q) wm 3) fasm
Firealarm createsin humans-
A) Stress B) Happiness
C) Work D) Rest
4) TETEHw 39 W TgT W IHE U g - [4]
HA) WA q) ISt
W) IS UWE TR 3) IUHH A @G T
Chemical fertilizersaffect on the sail -
A) Adverse B) Good
C) No effect D) None of the above
5) el & fore Ut o Ea @ - [V
H)  au q) AHX
|)  gehell 3) W
Source of water for plant is -
A) Ran B) Motor
C) Dhankdi D) Rahat
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6) THTeR P THHA hi UHI hi STETIRAT B & —

a1)  200-400 fa =i )

¥)  1000-1200 fu 2)

Requirement of water for tomato crop is -

A) 200-400mm B)

C) 1000-1200 mm D)
7) =iy Tesw Seafae A @ -

)  FOHA )

|) e 3)

Chinopodium album botanical nameis-

A) Krishnaned B)

C) Chaula D)
8) HeRll Uit AT TWRUAER & —

H) wen )

¥  FOHA 7)

Narrow leaf weed is-

A) Motha B)

C) Krishnaned D)
9) form Hie @ e foman e 2 -

HA) Hea" )

|)  ETEHAICE 2)

Thripsinsect is controlled by -

A) Mencozeb B)

C) Dimethoate D)
10) wiftam feree w1 frermson feran wiman @ -

) EHUE E))

) e 3)

Fusariumwilt iscontrolled by -

A) Dimethoate B)

C) Carbendazim D)
V-110

600-800 f +t
1400-1600 f =t

600-800 mm
1400-1600 mm

MW "™
Y3

Gagjar ghas
Bathua

Y
TeeR =g

Bathua
Patthar chatta

T
A

Thiarm
Aglol

AR
TEEeHH

Rogar
Endosulfan
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11) arEatie e AT § -

A  wAtRfEeA )

H) SUSHCEH g)

Botanical pesticideis

A) Azadirictin B)

C) Endosulfan D)
12) eate 1 Fe 8 -

) e )

)  FEwd )

Thefamily of tomatois

A) Fabaceae B)

C) Cruciferae D)
13) S R wrERUT Jaf E -

H) TH AR )

|) A e 7)

The storage period of brinja is-

A) Oneweek B)

C) Threeweeks D)
14) FHeTEHER R Tesll Tl ISR § —

) @\ )

q) e 3)

Anexample of nonclimacteric vegetableis

A) Cucumber B)

C) Chilli D)
15) fava wamea fgge wAwEn S g -

) bR )

|) 7 3)

World Health Day is celebrated on -

A) 5 September B)

C) 7April D)
16) et v < A grar @ -

H) Tt )

q) faafm @ q)

Night blindnessis caused by deficiency of -

A) Vitamin'B' B)

C) Vitamin'D' D)
V110

AT
SrEHATTE

Mdathion
Dimethoate

et
Areadt

Solanaceae
Malvaceae

Tl T
TR Aq@1g

Two weeks
Four weeks
ic|

3udh |t

Brinja

All of the above

2 AR
14 qaw=r

2 October
14 November
fefm v
Rrerftom =

Vitamin'A'
Vitamin'C'
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SECTION - B

AT —CTERRICHS T3 — [8xY2=4]
Very short answer type questions.

T E. 17 9 24 ¥ fau T 2 faeeut U @ vk g 3w foifRam)

In question No. 17 to 24, write one correct answer from the two options given.

17) &eia it =1t 9HTe JOr | ST 6 YR @ - [¥4]
(wiiferen /wme)
Regional colloquialismisatype of hindrancein effective communication.
(Physical/Language)

18) =Tl SRUM W TER E - [
(@R /g
Type of external motivationis
(Love/Reward)

19) U= & ScuTe Rl s ST gRT SR TR IR hiFd W IHTE ggd 2 [4]
(a0 g/t gen)
Selling the same product by multiple entrepreneurs affectsits price
(To be less/To be more)

20) virener fmior ArrewdT S T 3 ¢ - [¥4]
(== / TEresdn)
Construction of toilets gives the message of awareness.
(uncleanness/cleanness)

21) TaEt e B Ed @ [

(& /7eTRy)
Source of surface water is

(Candl/Tubewel)

22) it g 1 TRUAAR g — [4]
(ST /<)
The weed of Rabi season is -
(Satyanashi/Chaulai)
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23) @ & 91 e g -
(Tre /e =)
Sucking type pest is -
(Aphid/Fruit borer)

24) o g -
(hreeeTioT /TeTfIaTH)
Fungicideis-
(Carbendazim/Malathion)
wus-4

SECTION - C

TS T -
Short answer type questions :-

25) it Haw 3 FE A e e

Write any threetypes of verbal communication.

26) TP o hi-FIE I A T
Draw a diagram of a computer keyboard.

27) wwet & GhiA 1 for =arsa)
Draw adiagram of a computer screen.

28) wther FErl % 1S oA 1ot ferfRam)

Write any three qualities of a successful entrepreneur.

29) =g i fsgwm fafar & g i ew ferRe

Write any three advantages of sprinkler method of irrigation.

30) TRUAER! & g i @erun fefan)
Write any three characteristics of weeds.

V-110
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31) =z wTE e w1 Fa=m feRau)
Write the control of whitefly pest.

32) wfssEi St wetg (TSTE) o SR T T aTelt shig diF draen-at foram|

Write any three precautionsto be taken while harvesting of vegetables.

@ Us-q
SECTION - D

FraeTeTes W -
Essay type questions :-

33) S R UfET 3R Ferd (T218) o o A gefom A forar @ wwEmSU)
Explainindetail the grading and post-harvest handling of brinjal.
stgar/OR
e B werg (qeE) & ag i gefor i foraw @ wwEnER|
Explainindetail the post-harvest handling of chillies.

34) A goe T W WA IUR i foaR | gl
Explainin detal first aid in case of aroad accident.
sraat/OR
WU o A (H1eA) W TATHE ST i forar & wwenea|
Explainindetail thefirst ad for snakebite.

35) fteiRea w fewuft feRau -
Write short-note on thefollowing :

) werg TereH

Harvesting management.
i) =t wesm

Personal hygiene

gigat/OR

Fraferftga w fewoh fefew -
Write short-note on the following -
) -gfem

Pre-cooling
i) wgfer R

Balancediet.

FoR K
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